Graph #2

In a city in which there are 90,000 employed workers,
18,000 are public employees. Of this number, the federal
government employees 6,000; the state, 8,000; and the
city 4,000.

a)What percentage of all workers are public employees?
b)What percentage of the public employees does the
federal government employ?

c)What percentage of all employees are employees of the
state government?

Show work for “a” here:

Show work for “b” here:

Show work for “c” here:

Graph the numbers (given in the first paragraph) of the
city, state, and federal employees:



